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CBSEASSISTANCE.COM 
OPERATIONS ON ALGEBRAIC EXPRESSIONS 

CLASS 8 

R.S. AGGARWAL (SOLUTIONS) 

Ex. 6A 

Add: 

1. 8𝑎𝑏, −5𝑎𝑏, 3𝑎𝑏, −𝑎𝑏 

Solution:  

8𝑎𝑏 + (−5𝑎𝑏) + 3𝑎𝑏 + (−𝑎𝑏) = 5𝑎𝑏 

 

2. 7𝑥, −3𝑥, 5𝑥, −𝑥, −2𝑥 

Solution: 

7𝑥 + (−3𝑥) + 5𝑥 + (−𝑥) + (−2𝑥) = 6𝑥 

 

3. 3𝑎 − 4𝑏 + 4𝑐, 2𝑎 + 3𝑏 − 8𝑐, 𝑎 − 6𝑏 + 𝑐 

Solution: 

3𝑎 − 4𝑏 + 4𝑐 + 2𝑎 + 3𝑏 − 8𝑐 + 𝑎 − 6𝑏 + 𝑐 

= 3𝑎 + 2𝑎 + 𝑎 − 4𝑏 + 3𝑏 − 6𝑏 + 4𝑐 − 8𝑐 + 𝑐 

= 6𝑎 − 7𝑏 − 3𝑐 

 

4. 5𝑥 − 8𝑦 + 2𝑧, 3𝑧 − 4𝑦 − 2𝑥, 6𝑦 − 𝑧 − 𝑥 and 3𝑥 − 2𝑧 − 3𝑦 

Solution: 

5𝑥 − 8𝑦 + 2𝑧 + 3𝑧 − 4𝑦 − 2𝑥 + 6𝑦 − 𝑧 − 𝑥 + 3𝑥 − 2𝑧 − 3𝑦 

= 5𝑥 − 2𝑥 − 𝑥 + 3𝑥 − 8𝑦 − 4𝑦 + 6𝑦 − 3𝑦 + 2𝑧 + 3𝑧 − 𝑧 − 2𝑧 

= 5𝑥 − 9𝑦 + 2𝑧 

 

5. 6𝑎𝑥 − 2𝑏𝑦 + 3𝑐𝑧, 6𝑏𝑦 − 11𝑎𝑥 − 𝑐𝑧 and 10𝑐𝑧 − 2𝑎𝑥 − 3𝑏𝑦 

Solution: 

6𝑎𝑥 − 2𝑏𝑦 + 3𝑐𝑧 + 6𝑏𝑦 − 11𝑎𝑥 − 𝑐𝑧 + 10𝑐𝑧 − 2𝑎𝑥 − 3𝑏𝑦 

= 6𝑎𝑥 − 11𝑎𝑥 − 2𝑎𝑥 − 2𝑏𝑦 + 6𝑏𝑦 − 3𝑏𝑦 + 3𝑐𝑧 − 𝑐𝑧 + 10𝑐𝑧 

=  −7𝑎𝑥 + 𝑏𝑦 + 12𝑐𝑧 

 

6. 2𝑥3 − 9𝑥2 + 8, 3𝑥2 − 6𝑥 − 5, 7𝑥3 − 10𝑥 + 1 and 3 + 2𝑥 − 5𝑥2 − 4𝑥3 

Solution: 

2𝑥3 − 9𝑥2 + 8 + 3𝑥2 − 6𝑥 − 5 + 7𝑥3 − 10𝑥 + 1 + 3 + 2𝑥 − 5𝑥2 − 4𝑥3 

= 2𝑥3 + 7𝑥3 − 4𝑥3 − 9𝑥2 + 3𝑥2 − 5𝑥2 − 6𝑥 − 10𝑥 + 2𝑥 + 8 − 5 + 1 + 3 
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= 5𝑥3 − 11𝑥2 − 14𝑥 + 7 

 

7. 6𝑝 + 4𝑞 − 𝑟 + 3, 2𝑟 − 5𝑝 − 6,11𝑞 − 7𝑝 + 2𝑟 − 1 and 2𝑞 − 3𝑟 + 4 

Solution: 

6𝑝 + 4𝑞 − 𝑟 + 3 + 2𝑟 − 5𝑝 − 6 + 11𝑞 − 7𝑝 + 2𝑟 − 1 + 2𝑞 − 3𝑟 + 4 

= 6𝑝 − 5𝑝 − 7𝑝 + 4𝑞 + 11𝑞 + 2𝑞 − 𝑟 + 2𝑟 + 2𝑟 − 3𝑟 + 3 − 6 − 1 + 4 

=  −6𝑝 + 17𝑞 

 

8. 4𝑥2 − 7𝑥𝑦 + 4𝑦2 − 3, 5 + 6𝑦2 − 8𝑥𝑦 + 𝑥2 and 6 − 2𝑥𝑦 + 2𝑥2 − 5𝑦2 

Solution: 

4𝑥2 − 7𝑥𝑦 + 4𝑦2 − 3 +  5 + 6𝑦2 − 8𝑥𝑦 + 𝑥2 +6 − 2𝑥𝑦 + 2𝑥2 − 5𝑦2 

= 4𝑥2 + 𝑥2 + 2𝑥2 + 4𝑦2 + 6𝑦2 − 5𝑦2 − 7𝑥𝑦 − 8𝑥𝑦 − 2𝑥𝑦 − 3 + 5 + 6 

= 7𝑥2 + 5𝑦2 − 17𝑥𝑦 + 8 

Subtract: 

9. 3𝑎2𝑏 from −5𝑎2𝑏 

Solution: 

−5𝑎2𝑏 − 3𝑎2𝑏 

=  −8𝑎2𝑏 

 

10. −8𝑝𝑞 from 6𝑝𝑞 

Solution:  

6𝑝𝑞 − (−8𝑝𝑞) 

= 6𝑝𝑞 + 8𝑝𝑞 

= 14𝑝𝑞 

 

11. −2𝑎𝑏𝑐 from −8𝑎𝑏𝑐 

Solution: 

−8𝑎𝑏𝑐 − (−2𝑎𝑏𝑐) 

=  −8𝑎𝑏𝑐 + 2𝑎𝑏𝑐 

=  −6𝑎𝑏𝑐 

 

12. −16𝑝 from −11𝑝 

Solution: 

−11𝑝 − (−16𝑝) 

=  −11𝑝 + 16𝑝 

= 5𝑝 
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13. 2𝑎 − 5𝑏 + 2𝑐 − 9 from 3𝑎 − 4𝑏 − 𝑐 + 6 

Solution: 

3𝑎 − 4𝑏 − 𝑐 + 6 − (2𝑎 − 5𝑏 + 2𝑐 − 9) 

= 3𝑎 − 4𝑏 − 𝑐 + 6 − 2𝑎 + 5𝑏 − 2𝑐 + 9 

= 3𝑎 − 2𝑎 − 4𝑏 + 5𝑏 − 𝑐 − 2𝑐 + 6 + 9 

= 𝑎 + 𝑏 − 3𝑐 + 15 

 

14. −6𝑝 + 𝑞 + 3𝑟 + 8 from 𝑝 − 2𝑞 − 5𝑟 − 8 

Solution: 

𝑝 − 2𝑞 − 5𝑟 − 8 − (−6𝑝 + 𝑞 + 3𝑟 + 8) 

= 𝑝 − 2𝑞 − 5𝑟 − 8 + 6𝑝 − 𝑞 − 3𝑟 − 8 

= 𝑝 + 6𝑝 − 2𝑞 − 𝑞 − 5𝑟 − 3𝑟 − 8 − 8 

= 7𝑝 − 3𝑞 − 8𝑟 − 16 

 

15. 𝑥3 + 3𝑥2 − 5𝑥 + 4 from 3𝑥3 − 𝑥2 + 2𝑥 − 4 

Solution:  

3𝑥3 − 𝑥2 + 2𝑥 − 4 − (𝑥3 + 3𝑥2 − 5𝑥 + 4) 

= 3𝑥3 − 𝑥2 + 2𝑥 − 4 − 𝑥3 − 3𝑥2 + 5𝑥 − 4 

= 3𝑥3 − 𝑥3 − 𝑥2 − 3𝑥2 + 2𝑥 + 5𝑥 − 4 − 4 

= 2𝑥3 − 4𝑥2 + 7𝑥 − 8 

 

16. 5𝑦4 − 3𝑦3 + 2𝑦2 + 𝑦 − 1 from 4𝑦4 − 2𝑦3 − 6𝑦2 − 𝑦 + 5 

Solution: 

4𝑦4 − 2𝑦3 − 6𝑦2 − 𝑦 + 5 − (5𝑦4 − 3𝑦3 + 2𝑦2 + 𝑦 − 1) 

= 4𝑦4 − 2𝑦3 − 6𝑦2 − 𝑦 + 5 − 5𝑦4 + 3𝑦3 − 2𝑦2 − 𝑦 + 1 

= 4𝑦4 − 5𝑦4 − 2𝑦3 + 3𝑦3 − 6𝑦2 − 2𝑦2 − 𝑦 − 𝑦 + 5 + 1 

= −𝑦4 + 𝑦3 − 8𝑦2 − 2𝑦 + 6 

 

17. 4𝑝2 + 5𝑞2 − 6𝑟2 + 7 from 3𝑝2 − 4𝑞2 − 5𝑟2 − 6 

Solution: 

3𝑝2 − 4𝑞2 − 5𝑟2 − 6 − (4𝑝2 + 5𝑞2 − 6𝑟2 + 7) 

= 3𝑝2 − 4𝑞2 − 5𝑟2 − 6 − 4𝑝2 − 5𝑞2 + 6𝑟2 − 7 

= 3𝑝2 − 4𝑝2 − 4𝑞2 − 5𝑞2 − 5𝑟2 + 6𝑟2 − 6 − 7 

=  −𝑝2 − 9𝑞2 + 𝑟2 − 13 

 

18. What must be subtracted from 3𝑎2 − 6𝑎𝑏 − 3𝑏2 − 1 to get 4𝑎2 − 7𝑎𝑏 −

4𝑏2 + 1? 

Solution: 
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Required expression = 3𝑎2 − 6𝑎𝑏 − 3𝑏2 − 1 − (4𝑎2 − 7𝑎𝑏 − 4𝑏2 + 1) 

= 3𝑎2 − 6𝑎𝑏 − 3𝑏2 − 1 − 4𝑎2 + 7𝑎𝑏 + 4𝑏2 − 1 

= 3𝑎2 − 4𝑎2 − 3𝑏2 + 4𝑏2 − 6𝑎𝑏 + 7𝑎𝑏 − 1 − 1 

= −𝑎2 + 𝑏2 + 𝑎𝑏 − 2 

 

19. The two adjacent sides of a rectangle are 5𝑥2 − 3𝑦2 and 𝑥2 + 2𝑥𝑦. Find the 

perimeter. 

Solution: 

Let length of rectangle = 5𝑥2 − 3𝑦2 

Breadth of rectangle = 𝑥2 + 2𝑥𝑦 

Perimeter of rectangle = 2(𝑙 + 𝑏) 

= 2(5𝑥2 − 3𝑦2 + 𝑥2 + 2𝑥𝑦) 

= 2(5𝑥2 + 𝑥2 − 3𝑦2 + 2𝑥𝑦) 

= 2(6𝑥2 − 3𝑦2 + 2𝑥𝑦) 

= 12𝑥2 − 6𝑦2 + 4𝑥𝑦 

 

20. The perimeter of a triangle is 6𝑝2 − 4𝑝 + 9 and two of its sides are 𝑝2 −

2𝑝 + 1 and 3𝑝2 − 5𝑝 + 3. Find the third side of the triangle. 

Solution: 

Perimeter = 6𝑝2 − 4𝑝 + 9 

First side = 𝑝2 − 2𝑝 + 1 

Second side = 3𝑝2 − 5𝑝 + 3 

Third side = Perimeter – (sum of the two given sides) 

= 6𝑝2 − 4𝑝 + 9 − (𝑝2 − 2𝑝 + 1 + 3𝑝2 − 5𝑝 + 3) 

= 6𝑝2 − 4𝑝 + 9 − (𝑝2 + 3𝑝2 − 2𝑝 − 5𝑝 + 1 + 3) 

= 6𝑝2 − 4𝑝 + 9 − (4𝑝2 − 7𝑝 + 4) 

= 6𝑝2 − 4𝑝 + 9 − 4𝑝2 + 7𝑝 − 4 

= 6𝑝2 − 4𝑝2 − 4𝑝 + 7𝑝 + 9 − 4 

= 2𝑝2 + 3𝑝 + 5 

 


